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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions : 1x7=7
&R 25 Tey fonat ¢

(a) Who is known as the founder of modern
human geography ?

YT TR A g 7 i ol Twe

(b) Who put forwarded the concept of “Neo-
determinism” ?

“T R 4RAICET (IR SsRmIR e 2
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(c) Kyrgyz are found in which part of the
world ?

RRaiMer et <jfART (PINCH! SI2eeTS PRI I 2
(d) In which continent Mongoloids are

mainly distributed ?

TCANCTAT FFTE (I SRS S (oI T 2

(e) What is the present growth rate of world
population ?

6T AT TR I 7 e

() About what percentage of the total
world population is found in the
developing countries ?

SRIT STPRYR AN o1 Bz
(PPTRS CARE T2
(g} Name the largest state of North-East
India.
TEI-97 OISR SIBIRSIS TleT AT i 2 2
Answer the following questionsg : 2x4=8
S 53 Sad fm ¢

(@@ Which are the sparsely populated
regions of the world ?

R TR 7 31 Rt 1 e iz ¢

(b) What do you mean by a developed
country ?

e o™l Ferm & gmie
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(c) Mention two characteristics of a
rainforest area.

ey S g ([P S 4
(d) What do you mean by urbanization ?

o= e [ gote

Write short notes on : (any three)

5x3=15
W [t ol 53 (B ol
{a) Concept of Possibilism
BICIRRISILE ISR
(b) Concept of Space in Geography
SRS FR 419
(¢ Man-Environment relationship
R SAETS TR T AR 7o
{d}] Optimum population
SFIEE SRl
(e Human Development Index

AR THT IPIT

Answer any three of the following :

10x3=30
o’ [ fofan) et Oa foa s

(@) “Human geography is the study of
changing relationship between the
unresting man and the unstable earth.”
Explain the statement.
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(b)

(c)

(d)

(e)

AR T S Bfes i et 1 |

Describe the pattern of distribution of
human population in the world with
examples.

+fAqe T TR Re=aR Fo9 Srigeasiz
sLoie f

Define Human Geography and discuss
about its different branches. 2+8=10

R LR kel el oI 2R IR i
SIS 3] |

Discuss the causes and consequences
of migration.

YIS TN WiF TN S0 4 |

Define human settlement. Describe
different types of human settlement
with diagrams and examples. 2+8=10

TPl ke a1 fou wiw Snizseds wmme
ifen s Trfes Regd fan)

Describe the role of man in degradation
of environment.

W I IS PP AR Bifie s
I 3|
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